TVIINVIN NOILONA1ISNI

CM10K Tripod Kit

Revision : 3/98






CM10K TRIPOD KIT MANUAL

The CM10K Tripod Kit can be used to assemble a 6 foot or 10 foot tripod equivalent to Campbell
Scientific’s preassembled CM6 and CM10 Tripods. The kit significantly reduces shipping weight and
costs by providing only tripod parts that cannot be easily obtained from machine shops and retail
hardware suppliers. The user is required to provide several lengths of threaded galvanized pipe to
complete the assembly.

1. TRIPOD KIT ASSEMBLY Scientific (solid) and parts the user must supply
] (dashed). Numbered arrows correspond to item
Figure 1-1 shows a fully assembled CM10 numbers in Tables 1-1, 1-2, and 1-3. Items in
Tripod with the CM10 Guy Kit. The CM6 is Table 1-1 are supplied in the CM10K Tripod Kit.
shorter but similar in appearance and has no ltems in Tables 1-2 and 1-3 must be supplied
guy kit option. Figure 1-2 shows a view of a by the user.

tripod indicating parts supplied by Campbell

T—mn
J

FIGURE 1-1. CM10 Tripod



CM10K TRIPOD KIT MANUAL

12

13 OR 16
4,6 & 10

4,8 & 11

14 & 17

15 OR 18

2,46 & 7

4,6 & 9

FIGURE 1-2. Tripod Items



CM10K TRIPOD KIT MANUAL

1.1 CM10K KIT ITEMS - - -
TABLE 1-2. Six Foot Tripod (CM®6) Pipe

Table 1-1 lists items that are shipped with the Requirements
CM10K Tripod.

ltem # Description Quantity Figure

TABLE 1-1. CM10K Tripod Kit Parts 12 CM6/CM10

o Crossarm Mount 1 1-3
ltem # Part# Description Quantity 13 CM6 Upper Body 1 1-4
11/4
1 850 Lightning Rod 1 14 CM6 Upper Leg
2 1201 Slide Collar 3 Ext. 3/4 Pipe 3 1-5
3 1013 Lightning Rod Clamp 1 15 CM6 Lower Leg
4 795  1/4-20 Nut 14 Ext. 3/4 Pipe 3 16
5 1183 Bell Reducer 1 If a ten foot tripod (CM10) is to be assembled,
6 794 1/4-20 x 1 3/4 Screw 12 obtain sections of pipe as listed in Table 1-3.
The pipe must be cut and prepared according to
7 75 5/16-18 x 3/4 Screw 3 drawings and specifications in Figures 1-3, 1-7,
8 5226 1/4-20 x 1/2 Screw 2 1-8, and 1-9.
9 10838 Foot 3 . .
TABLE 1-3. Ten Foot Tripod (CM10) Pipe
11 4429  Grounding Lug 2 o ) )
Iltem # Description Quantity Figure
1.2 USER SUPPLIED ITEMS 15 CMBICMLO
If a six foot tripod (CM6) is to be assembled, Crossarm Mount 1 1-3
obtaln_ sections of pipe as listed in Table 12 16 CM10 Upper Body
The pipe must be cut and prepared according to
) e i 11/4 1 1-7
drawings and specifications in Figures 1-3, 1-4,
1-5, and 1-6. 17 CM6 Upper Leg
Ext. 3/4 Pipe 3 1-8
18 CM6 Lower Leg
Ext. 3/4 Pipe 3 1-9




CM10K TRIPOD KIT MANUAL

, ES .
t‘i 10.000 0624>1 3/4 NPT 1,050
*) -750 F 824
REF
NOTE:
1. MATERIAL : 3/4” GALVANIZED SCH 40 PIPE
CUT 2 — 72" PARTS (MDR725)
AND 2 — 48" PARTS (MDR1203) B
AND 1 — 10" PART (MDR1180) m—— S W%‘Q 5980
FROM A 21" LENGTH OF PIPE _TOLERANCES "R_THURGOOD | - [*™ 14 MAR 89
DTS ™ FAB CM10 CROSS—ARM MOUNT
XXX = + - .010" DOCUMENT NUNBER:
=
o () 505, 1909 Compe et o s o s [U2) CAMPBELL SCIENTIFIC INC. VDR 1180

—%O 152)22 EWBEE 17 F?; 81
I T T T

FIGURE 1-3. CM6/CM10 Tripod Crossarm Mechanical Drawing

|
<>1 1.000 WP‘_;

62,000+,062

NOTES:
1. MATERIAL :
2. FINISH

1 1/4 GALVANIZED SCH 40 PIPE
DEBURR, DEGREASE, CLEAN PIPE

1/4 NPT (2)PLCS

l

1,660 REF

1.380 REF

TOLERANCES |5

o i l;.:
R THURGoOD |2 JUL 84 [*'F% pec g7

+ 010"
- 010"

UNLESS OTHERWSE NOTED)

omscreTon 5

FAB CM6 UPPER BODY 1 1/4 PIPE

() cAMPBELL SCIENTIFIC INC. [15R 555

1EDE

[0 ]

FIGURE 1-4. CM6 Upper Body Mechanical Drawing



CM10K TRIPOD KIT MANUAL

i 55.750+.062
- ~— .625 TvP 1.050 REF
824 RE
281 DIA. THRU (2)PLCS
NOTES:
1. MATERIAL : 3/4 GALVANIZED SCH 40 PIPE
2. FINISH : DEBURR, DEGREASE, CLEAN PIPE = o e e
TOLERANCES | "= tiurcaon 12900 e+ % pec o
. [ =
+ 010 FAB CMB UPPER LEG EXT. 3/4 PIPE | 29FB
- 010" 'DOGUNENT NUMEER: FEV.
s oo e (B8) CAMPBELL SCIENTIFIC INC. [ TR0 |OW
FIGURE 1-5. CM6 Upper Leg Mechanical Drawing
} 27.750+.062
»1 t« 625 TYP
281 DIA. THRU (2)PLCS
NOTES:
1. MATERIAL ; 3/4 GALVANIZED SCH 40 PIPE
2. FINISH : DEBURR, DEGREASE, CLEAN PIPE = = BT =
TOLERANCES _ |w ¥R tuurcoop 1300t 84 |F19 pec o7
=
+.010 ™ FAB CMB LOWER LEG EXT. 3/4 PIPE | 84E8
- .010 ‘DOCUMENT NUWEER: REV.
e omm ] BB CAMPBELL SCIENTIFIC INC. [755e% |Oq

FIGURE 1-6. CM6 Lower Leg Mechanical Drawing



CM10K TRIPOD KIT MANUAL

N

82.000 +.062

J——

I

Il

InAnI

JUUROnO

JI

*“ 1.000

/1 1/4 NPT (2) PLCS

1.660 REF

—=  1.000 fe=— —-— 1,380 REF
NOTES:
1. MATERIAL ; 1 1/4" GALVANIZED SCH 40 PIPE l_ —
2. FINISH : DEBURR, DEGREASE, CLEAN PIPE TOLERANCES [ [ & thurcoon |767 FE oo o7
+ 010" |"FRE' cM10 UPPER BODY "C95C
— .010" 'DOCUMENT NUMBER: rev.
s e s BB) CAMPBELL. SCIENTIFIC INC. |MDR859 |OW
FIGURE 1-7. CM10 Upper Body Mechanical Drawing
-—————————— 80.000%.062 ———=
R g0 i
.281 DIA. THRU
(2) PLCS
NOTES:
1. MATERIAL : 3/4” GALVANIZED SCH 40 PIPE
2. FINISH : DEBURR, DEGREASE, CLEAN PIPE
= = e =
TOLERANCES | [ & trurcoon [T875 =5 JAN 08
+ 010" ["FAB cM10 UPPER LEG " 7DB6
- o CAMPBELL SCIENTIFIC INC, [ |7
ess omemwse horep IMDR725 [0

FIGURE 1-8. CM10 Upper Leg Mechanical Drawing




CM10K TRIPOD KIT MANUAL

NOTES:
1. MATERIAL
2, FINISH

t‘i 50.000+.062 4~‘

e

281 DIA. THRU (2) PLCS

: 3/4" GALVANIZED SCH 40 PIPE
DEBURR, DEGREASE, CLEAN PIPE

— =l 525 {-—

TOLERANCES

+ .0107
- 010"

UNLESS OTHERWSE NOTED|

B

[¥" & tuurcoon |T8%6 [5 oec o7

=

FAéN CM10 LOWER LEG

—

@ CAMPBELL SCIENTIFIC INC.

MDR1203 |01

FIGURE 1-9. CM10 Lower Leg Mechanical Drawing



CM10K TRIPOD KIT MANUAL






Campbell Scientific Companies

Campbell Scientific, Inc. (CSI)
815 West 1800 North
Logan, Utah 84321
UNITED STATES
www.campbellsci.com
info@campbellsci.com

Campbell Scientific Africa Pty. Ltd. (CSAf)
PO Box 2450
Somerset West 7129
SOUTH AFRICA
www.csafrica.co.za
sales@csafrica.co.za

Campbell Scientific Australia Pty. Ltd. (CSA)
PO Box 444
Thuringowa Central
QLD 4812 AUSTRALIA
www.campbellsci.com.au
info@campbellsci.com.au

Campbell Scientific do Brazil Ltda. (CSB)
Rua Luisa Craps Orsi, 15 Butanta
CEP: 005543-000 S50 Paulo SPBRAZIL
www.campbellsci.com.br
suporte@campbellsci.com.br

Campbell Scientific Canada Corp. (CSC)
11564 - 149th Street NW
Edmonton, Alberta T5SM 1W7
CANADA
www.campbellsci.ca
datal oggers@campbellsci.ca

Campbell Scientific Ltd. (CSL)
Campbell Park
80 Hathern Road
Shepshed, Loughborough LE12 9GX
UNITED KINGDOM
www.campbellsci.co.uk
sales@campbellsci.co.uk

Campbell Scientific Ltd. (France)
Miniparc du Verger - Bat. H
1, ruede Terre Neuve - Les Ulis
91967 COURTABOEUF CEDEX
FRANCE
www.campbellsci.fr
campbell.scientific@wanadoo.fr

Campbell Scientific Spain, S. L.
Psg. Font 14, local 8
08013 Barcelona
SPAIN
www.campbellsci.es
info@campbellsci.es

Please visit www.campbellsci.com to obtain contact information for your local USor International representative.


mailto:suporte@campbellsci.com.br

	Revision and Copyright Information
	CM10K TRIPOD KIT MANUAL
	1.  TRIPOD KIT ASSEMBLY
	1.1  CM10K KIT ITEMS

	1.2  USER SUPPLIED ITEMS

	Campbell Scientific Contact Information

